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Introduction


Discourse markers (hereafter, DMs) are lexical expressions such as those shown in bold in the following examples.

(1) a) We were late in leaving home. Nevertheless, we arrived on time.


b) It should fly. After all, we followed directions.


c) It’s been a lousy day. The rain spoiled our picnic. Moreover, John didn’t come.

d) A: I like him. B: So, you think you’ll ask him out?


e) We ought to speak to Harry about that point. Incidentally, where is he today?

In recent years, the study of DMs has turned into a growth industry in linguistics, with dozens of articles, both theoretical and descriptive, appearing yearly. Unfortunately, what constitutes DMs varies among researchers, and we find work done under a variety of labels including, but not limited to, cue phrases (Hovy, 1994; Knott & Dale, 1994), discourse connectives (Blake​more, 1987, 1992), discourse operators (Redeker, 1991), discourse particles (Schoroup, 1985), discourse signalling devices (Polanyi & Scha, 1983), extrasentential links (Fuentes, 1987), gambits (Keller, 1979), phatic connectives (Bazanella, 1990), pragmatic connectives (van Dijk, 1985; Stubbs, 1983), pragmatic devices (Vande Kopple, 1985), pragmatic expressions (Erman, 1992), pragmatic formatives (Fraser, 1987), pragmatic markers (Fraser, 1988, 1990; Hölker, 1991; Schiffrin, 1987), pragmatic operators (Ariel, 1994), pragmatic particles (Östman, 1982, 1995), semantic conjuncts (Quirk et al., 1985), and sentence connectives (Halliday & Hasan, 1976).

I have elsewhere set forth in considerable detail what I take to be the essence of DMs (Fraser, 1996a; 1997) and will only briefly restate my view here. DMs are lexical expressions. Although drawn primarily from the syntactic classes of conjunctions, adverbials, and prepositional phrases, they do not play the role in a sentence that their classes would suggest, but instead, they are separate from the propositional content of the sentence and function to signal the relationship between the segment of discourse they introduce, S2, and the prior segment of discourse, S1.
 Their meaning is procedural, not conceptual, with each DM providing information on how to interpret the message conveyed by S2 vis-a-vis the interpretation of S1.

A DM, if present, dictates the relationship intended by the speaker between the interpretation of S2 and S1. If no compatible interpretation can be negotiated for S2, given S1 and the particular DM, then the discourse sequence is interpreted as incoherent. For example, in (2a), below,

(2) a) A: Susan isn’t going to be here today. B: But Einstein liked pizza.


b) John doesn’t teach very well. But Sam has a peptic ulcer.


c) Harry gave toys to Mary in the park. But Sara gave toys to Ronnie yesterday.

I cannot find an interpretation of S2 which, when taken with S1 and but renders the sequence coherent. This may, of course, be a failure of my imagination. The sequence in (2b) also seems to be incoherent, at least at first glance. However, if our conversation were about acquiring a replacement faculty member and we were going over their health and qualifications, it becomes coherent. Similarly, it only takes a little framing of (2c) to find a common topic that would render this sequence coherent.

My focus in this paper is on the Contrastive Discourse Markers (CDMs) of English. This class of expressions includes:

(3) (al)though, all the same, alternately, be that as it may, but, contrary to expectations, conversely, despite (doing) this/that, even so, however, in comparison (with/to this/that), in contrast (with/to this/that), in spite of (doing) this/that, instead (of (doing) this/that), nevertheless, nonetheless, on the contrary, on the other hand, rather (than (doing) this/that), still, whereas

I can offer no precise definition of what qualifies as a CDM, and I have selected the term “contrastive” as a cover term intended to convey the sense of the class of DM.
 For the purposes of this paper, I appeal to your intuitions that each of the CDMs in (3) signals a “contrastive” relationship between the S2 they introduce and a foregoing S1, although in some cases they signal more than simple contrast.

I shall proceed as follows. First, I shall examine what are largely syntactic aspects of the class of CDMs, such as in what constructions one finds them, in what positions in the sentence they occur (e.g. initially, medially, or finally), and whether they co-occur with other CDMs. Then I shall examine the meaning distinctions between CDMs and divide them up into classes and subclasses on the basis of their core meaning and what sorts of restrictions each (sub)class places on the segments they relate. Finally, I shall offer suggestions for additional research.

Syntactic Patterning of Contrastive Discourse Markers

As you might expect, the CDMs listed in (3) do not all pattern syntactically alike. In fact, there are four different patterns, although in each case the CDM relates two discourse segments. The first case, and the one usually taken as the citation form, involves the CDMs contrary to expectations, conversely, even so, however, nevertheless, nonetheless, on the contrary, on the other hand, and still. Here, the CDM introduces an S2, where the S2 occurs as a separate syntactic segment. This is illustrated in (4) 

(4) a) John was late in leaving home. However, he arrived on time.


b) It may rain. On the other hand, it may not.


c) Harry is no gentleman. On the contrary, he is a rude bore.

A second case involves only one CDM, but, which occurs both in initial-S2 position, like however, and as a connective joining S1 and S2.

(5) a) John enjoys riding. But Harry likes walking.


b) John enjoys riding, but Harry likes walking.

A third case involves the CDMs despite (this/that), in spite of (this/that), in comparison (with/to this/that), in contrast (to/with this/that), instead (of (doing) this/that); rather (than (do) this/that which, in the form just given, function like the first class, introducing an independent S2. However, each occurs with the pronoun (this or that) filled in with a modified form of S1, and occur in a “reverse” pattern.

(6) a) John was late in leaving home. Despite this, he arrived on time.


b) Despite being late in leaving home, John arrived on time.


c) John arrived on time, despite being late in leaving home.

However, only in (6a) does despite this (a prepositional phrase) function as a DM. In (6b-c), despite is functioning as a preposition, taking as its object a nominalized form of S1.

The fourth pattern involves the CDMs although (=however), and whereas (=in contrast), which introduce a segment only when it is combined syntactically with S1.

(7) a) John was late in leaving home. However he arrived on time.


 b) John was late in leaving home, although he arrived on time.


 c) The Democrat’s mascot is a donkey. In contrast, the Republican’s mascot is an


     elephant.


 d) The Democrat’s mascot is a donkey, whereas the Republican’s mascot is an


     elephant.

Although these four variations of CDMs exist, I will concentrate on the first pattern, where the CDM introduces S2 as a separate segment of the discourse. Whether anything will be lost by this move must await further research.

A second aspect of syntax involves the sequence of sentence types involving CDMs. The examples presented thus far have all consisted of a declarative sentence, then a CDM, followed by a second declarative sentence: <Declarative. CDM+ Declarative>. While all CDMs can occur in this pattern, the other sequences are more problematic. Of the other 8 sequences of syntactic types, only half occur. We find that only but and however introduce an interrogative or imperative construction when following a declarative, as shown in (8),

(8) a) The shipment of candy has arrived. But/However, don’t touch it. 


b) It’s alright Sue wasn’t here today. But/However, when will she be able to come?

and the CDMs instead/rather as well as but and however can introduce S2 when in the pattern <Imperative. CDM-Declarative>.

(9) a) Take a letter. But/However I don’t want you to send it right away.


b) Don’t sit down. Instead, I want you to take a walk with me.

Note that the segment introduced by the CDM has the force of a directive even though the syntactic form is that of a declarative. An <Imperative. CDM-Imperative> sequence occurs with these four as well as on the other hand and on the contrary.

(10) a) Take a letter. But/However, tell me if I am going too fast.


  b) Don’t smoke tobacco. Instead/Rather, chew the stuff (Instead).


  c) Keep the faith. On the other hand, don’t be stupid about it.


  d) Don’t stop. On the contrary, keep going until you see the red house.

The remaining four combinations do not occur. These facts are summarized in Table 1.
Table 1 - Co-occurrence of CDM with Syntactic Types

	
	BU
	HO
	OT
	CN
	CM
	CV
	NV
	IN
	RA
	CY

	D-D
	OK
	OK
	OK
	OK
	OK
	OK
	OK
	OK
	OK
	OK

	D-I/Q
	OK
	OK
	*
	*
	*
	*
	*
	*
	*
	*

	I-D
	OK
	OK
	*
	*
	*
	*
	*
	OK
	OK
	*

	I-I
	OK
	OK
	OK
	OK
	*
	*
	*
	OK
	OK
	OK

	I-Q
	*
	*
	*
	*
	*
	*
	*
	*
	*
	*

	Q-D/I/Q
	*
	*
	*
	*
	*
	*
	*
	*
	*
	*



BU=but; HO=however; OT=on the other hand; CN=in contrast; CM=in comparison;


CV=conversely; NV=nevertheless; IN=instead; RA=rather; CY=on the contrary

A point which is interesting but merits more research is that when a CDM+S2 occurs after a performative expression in S1, such as “I promise” or “I admit,” it is often the interpretation of the segments’ propositional content with which the contrast is made, not the entire S2 segment, which represents an action, not a fact. 

(11) a) I suggest you sit down. But don’t get too comfortable.

 
  b) I admit to helping support democratic revolutions. In contrast, I do not help



 support terrorist activities.


  c) I ask that John not be censured. Instead, I want him fined the maximum amount.

A third aspect of the syntactic patterning of CDMs is the fact that all, except on the contrary (and of course although and whereas), can occur in S2 as a CDM when S2 is introduced by but.

(12) a) Jim gave a book to Mary, but, in contrast, Dave gave her a doll.


  b) It may rain. But, on the other hand, it may not.


  c) A: Fred didn’t like the movie. B: *But, on the contrary, he rather enjoyed it. 

Finally, all CDMs except though occur in the initial position of S2. Those occurring in medial position include all except but, rather, and though, while in final position occurrence is limited to despite that, however, instead, nevertheless, and though. These facts are illustrated in (13).

(13) a) It may rain. It (*on the other hand) may not, (*on the other hand).


 b) Fred likes pie. Hank (in contrast) likes ice cream, (*in contrast).


 c) A: Harry is fat. B: He (*on the contrary) is thin, (*on the contrary).


 d) He didn’t take the letter. He (*rather) left in on the table, (*rather).


 e) We started late. We (still) arrived on time, (*still).

The Meanings of Contrastive Discourse Markers

CDMs divide up on the basis of meaning into the following two classes, with the type of contrast indicated in (14)-(16), with the relationships displayed in Chart 1.

(14) These DMs signal that the speaker intends the explicit message conveyed by


  S2 to contrast with an explicit or indirect message conveyed by S1.


  a) but
  b) however, (al)though
  c) on the other hand, alternately
  d) in contrast (with/to this/that), whereas

  e) in comparison (with/to this/that)

  f) conversely

  g) all the same, despite (doing) this/that even so, in spite of (doing) this/that,

nevertheless, nonetheless, still 
(15) These DMs signal that the speaker intends the explicit message conveyed by


  S2 to correct a message conveyed by S1.


  a) instead (of (doing) this/that)

  b) rather (than (doing) this/that)

(16) These DMs signal that the speaker intends the explicit message conveyed by 


  S2 to be correct while the message conveyed by S1 to be false.

  a) on the contrary, quite the contrary, contrariwise

Chart 1 Relationship of CDMs











   But














However








Instead









On the other hand









 













 







Rather






In contrast












   Nevertheless


 






   In comparison

























Conversely









 On the contrary

The chart should be interpreted in the following way. CDMs divide into three main classes, each with a different type of procedural core meaning which places restrictions on the details of the relationship between S2 and S1. The largest class, headed by but, imposes the least restrictions on the relationship between S2 and the S1 with which it is contrasted. The restrictions imposed by but (and its subclasses) are of a different type from those imposed by instead/rather and on the contrary, such that where one of these can occur, the other two cannot. To the extent to which but and on the contrary, for example, occur with the same S2 and S1, the segments are interpreted quite differently. This should become clearer below.

Continuing, but can always substitute for however but not vice-versa, since the restrictions imposed by however are greater than those for but. The restrictions for however are less than those for either on the other hand or nevertheless, whose restrictions are mutually exclusive. Hence, on the other hand requires a relationship between S2 and S1 which precludes nevertheless from occurring, and vice-versa. In contrast requires a relationship more restrictive than on the other hand but less restrictive than for either in comparison or conversely, whose restrictions also do not overlap. The other two classes consist of a subclass with two members, instead and rather, whose S2-S1 relationship partially overlaps and a single CDM, on the contrary.

The mutual exclusiveness of the three main classes can be shown, but by no means proven, by considering sequences like those in (17), which distinguishes but from on the contrary, (18), which distinguishes but from instead/rather, and (19), which distinguishes on the contrary from instead/rather.

(17) a) John didn’t walk to school. On the contrary/*But, he rode in a limo.


 b) A: Harry is quite tall. B: On the contrary/*But, he is really quite short.


 c) A: Sue likes potato chips. B: On the contrary/*But, she actually detests them.


 d) We didn’t leave late. But/*On the contrary, we arrived late.


 e) I don’t like this mess. But/*On the contrary, I understand how it occurred.


 f) A: John is fat. B: But/*On the contrary, Jim is thin.

(18) a) Sue didn’t get out of bed this morning. Instead/*But, she went back to sleep.


 b) Don’t be a slugabed. Instead/*But, get up and see the world.


 c) Jason didn’t prove the theorem. Instead/*But, he just quit, essentially giving up.


 d) George doesn’t ski very well now. But/*Instead, this may be since he has had 



an accident .


 e) John is not fat. But/*Instead, Jim is thin.


 f) We didn’t leave late. But/*Instead, we arrived late.

(19) a) Fred is not a gentleman. On the contrary/*Instead, he is a rogue.


 b) A: John won’t leave today. 



B: On the contrary/*Instead, he is leaving right this minute.


 c) A: Harry is not tall. 



B: On the contrary/*Instead, he is over 7 feet.


 d) He should have picked it up. Instead/*On the contrary, he just left it lying there.


 e) I assure you Jack will not be late. Instead/*On the contrary, he will be early.


 f) Mark talked for a long time to the class. Instead/*On the contrary, he should



have remained quiet and just listened.

In what follows I will characterize the core meaning of each (sub)class of the CDMs and, where relevant, show that it can be distinguished from the other subclasses based on the restrictions it imposes on the relationship between S2 and S1.

BUT(but)

By far the most ubiquitous and general of the CDMs, but is also the most complicated. There is a fairly large literature on but, including R. Lakoff (1971) with her semantic and denial of expectation buts, Halliday & Hassan (1976) with their internal and external but, Dascal & Katriel (1977) with their notion of cancellative but, Abraham (1979) with his three types of but corresponding to aber, sondern, and daf(r, Birner (1988) with her general analysis for every case of but, Blakemore (1987) with her denial of expectation and contrast but, and Schiffrin (1987) with her referential, functional, and contrastive but.

I find that the core meaning of but is to signal simple contrast, nothing more, and the speaker will select it when intending to highlight a contrast.
 However, the S1 message with which the direct S2 message is contrasted—the target--may be the direct, indirect, presupposed, or entailed message of S1.
 But whichever the message, there is only one core meaning of but, although the precise nature of the contrast may be interpreted from the S1 message involved and the context.

The task of the hearer when but occurs is to find which of the messages associated with S1 is the target on this particular occasion. There are few clues to guide one. In those cases where the direct S1 message is the target of the contrast, as in (20),

(20) Direct S1 Message

 a) John is tall. But Sam is short.


 b) John gave toys to Mary, but Sara gave dolls to Jane. 


 c) The cook fried the onions, but she steamed the cabbage.


 d) The WFL is a pretty good deal. Good salary; good hours; good working condi-



tions. But the NFL is everybody’s dream and few make it there.

the two messages contrast in at least two corresponding areas. (example (20b) has three areas of contrast). In most cases, the order of S2 and S1 is irrelevant and can be reversed with no change in interpretation, at least when the segments are coordinated into a single sentence.
 These contrasts may be along well-defined continua, such as height, weight, scores, the identity of people, or it may involve contrasts which are less obvious, as in (20d). 

Even if one cannot find two specific areas of contrast between the direct S2 and S1 messages, the messages may nevertheless be contrasted in one of several other ways. First, there may be only one area of contrast but an also, too or either will be present, or at least implied, as in (21).
 

(21) a) John gave toys to Mary. But he gave toys to Jane (,also/too.)


 b) Harry plays tennis. But he (also) plays golf.


 c) Sam is short. But Harry is short (,too.)


 d) Tim is not short. But Max is not short (,either.)


 e) Take some apples. But take some pears (,too.)

Second, S2 may be (roughly) the negative of S1, with emphatic stress on one S2 constituent. This is what I call the “protest” but, which, in contrast to the prior cases, must involve two speakers.

(22) a) A: Harry is honest. 



B: But he’s NOT honest. 


 b) A: James lied about his whereabouts yesterday. 



B: But I know that he DID NOT LIE about his whereabouts, since I was with him



    during the entire day. 


 c) A: We can go. 



B: But I can’t go, since I’m not ready .

In this case, S2 directly contradicts S1, and in so doing denies S1. But the denial arises from a contrast of a special sort, which involves the content of S2 and S1, not as a function of the core meaning of but.
And third, S2 may consist of only the reason or justification for an assertion which had been deleted, as illustrated in (23).

(23) a) Well, she’s nearly always in by 10. But (she may be in after 10 since) she has a



 lot of work to do at the library.


  b) [Context: stranger taking away Jimmy’s bike] Jimmy: But (you shouldn’t take



 that away since) that’s my bike.


  c) A: James is not in his office. 



 B: But (he IS in his office since) I just saw him there.)

If an explicit contrast cannot be found, the hearer is forced to look further for a target S1 message. One option is to see if S2 contrasts with a presupposed message of S1, as illustrated in (24),

(24) Presupposed S1 Message

  a) A: Three of my four kids are in school. (Presupposed: The fourth is not.) 



 B: But All of your children are in school.

 
  b) A: All of the boys had left. (Presupposed: There were at least three boys.)



 B: But there were only two to start with.


  c) A: I promise you roses for your birthday. (Felicity Presupposition: I can do it.)



 B: But, you’re going to be away for my birthday.

or to look for an entailed message of S1, as illustrated in (25).

(25) Entailed S1 Message


  a) A: Nancy is enjoying being a bachelor. (Entailed: Nancy is a male) 



 B: But Nancy is female.


  b) A: Here is a triangle. (Entailed: A triangle has three sides.)



 B: But this has four sides.

Finally, the target of the CDM but may be implied, an indirect message of S1, as illustrated in (26).

(26) Implied S1 Message

  a) John is a politician. (Implied: Politicians are dishonest.) But he is honest.


  b) We started late. (Implied: We would arrive late.) But we arrived on time.


  c) What a mess! (Implied: I don’t understand how it came about.) But I understand



 how it came about.


  d) Tom is very intelligent. (Implied: Intelligent people are arrogant.) But he is not



 at all arrogant.


  f) A: Do you love me? 



B: Yes, I love you. (Implied: I will you do anything for you.) But I still won’t do the



dishes.

In these cases, S2 contrasts with an indirect message that, in the speaker’s view, could be implied from S1. The accessibility of the implication varies. In (26a), the “He is honest” contrasts a widely-held implication that all politicians are dishonest and the speaker of (26a) presumably wants to dispel any notion that this is his viewpoint.
 In (26b), the obvious implication from starting late is arriving late. In (26f), on the other hand, the implication following from the “Yes (I love you),” namely “I will do anything for you” is far from obvious, but the speaker, by uttering S2, sets the record straight. 

Notice that when the target of S2 is an implied, presupposed or entailed message, the order of S2 and S1 is critical, and S2 and S1 cannot be interchanged. Thus, (27b) does not mean the same thing as (27a), though with the proper framing, it is quite coherent.

(27) a) John is a politician. But he is honest.


  b) John is honest. But he is a politician.

To summarize, the target of S2 with the CDM but can be either the direct, an implied, a presupposed, or an entailed message. In all cases, but signals that S2 is to stand in contrast to a message conveyed by S1, and any refinement of this simple contrast to a more specific one, for example, that in a protest use it directly rejects the S1 direct message, follows from the context and the messages involved and does not follow from an ambiguity of the core meaning of the CDM but.

However (however, (al)though)

However differs from but, but not very much.
 Like but, it can have as its target the direct S1 message, 

(28) a) John is tall. However, Sam is short.


  b) John gave toys to Mary. However, Sara gave dolls to Jane. 


  c) The cook fried the onions. However, she steamed the cabbage.

and an indirect message conveyed by S1.

(29) a) John is a politician. (Implied: Politicians are dishonest.) However, he is



 honest.


  b) We started late. (Implied: We would arrive late.) However, we arrived on time.

And, while I don’t find the following acceptable, some speakers do. 
(30) a) A: Three of my four kids are in school. (Presupposed: The fourth is not.) 



 B: But/?However, All of your children are in school.


  b) Harry said that all of the boys had left. (Presupposed: There were at least three



 boys.) But/?However, there were only two to start with.


  c) A: Chris is enjoying being a bachelor. (Entailed: Chris is a male) 



 B: But/?However, Chris is female.


  d) A: Here is a triangle. (Entailed: A triangle has three sides.)



 B: But/?However, this has four sides.

It is clear that however cannot be used in the protest use.

(31) a) A: Let’s go. B: *However/But, I can’t go (I am not ready yet.)


  b) A: Chris is enjoying being a bachelor. *However/But Chris is NOT a bachelor.


  c) A: I regret that John is sick. B: *However/But John is not sick.

Whereas but signals a simple contrast between S2 and S1, with no particular emphasis on either S2 and S1, hence the interchangability of the segments when the target is the direct message conveyed by S1, the core meaning of however signals that S1 is being emphasized, placing the S2 message in a more subordinate role. This difference is difficult to show, since but can occur in all however contexts, and can be interpreted as emphasizing S2 when it does so. This is true of but and all its subclasses, where the upper, more general CDM, can “replace” a lower CDM and take on the more restrictive interpretation. However, if I am correct that although is equivalent to however, then the examples in (32) illustrate this subtle distinction.

(32) a) She fried the onions, but she steamed the cabbage.


  b) She fried the onions. However, she steamed the cabbage.


  c) She fried the onions, although she steamed the cabbage.

where (32c) places priority on the steaming while (32a) treats both messages equally.

On the other hand (on the one hand…on the other hand, alternatively)
The core meaning of on the other hand (more accurately, on the one hand…on the other hand) is more specific than however and signals that the contrasting S2 message must be an alternative to the direct S1 message around a specific topic. There is sometimes only one area of contrast, such as (33a), and the contrast is not necessarily an opposite, nor along the same continuum, though it may be. We can see that the sense of alternatives becomes more apparent when on the one hand introduces S1.

(33 a) (On the one hand) we could leave. On the other hand, we could stay.


  b) (On the one hand) my car isn’t very attractive. On the other hand, it does get



 us there.


  c) (On the one hand) Jane could drive us to the movies. On the other hand, you



 could drive us to the beach.


  d) (On the one hand), we could leave. ?On the other hand, it wouldn’t do us much



 good.


  e) (On the one hand), my car isn’t very old. *On the other hand, I don’t want to



 sell it right away.

Although all the sequences have a common topic, for example, whether to leave, my car, or where to go, when we consider (33d-e), we find that S2 is not a viable alternative to S1 within the topic area. Hence the incoherence of these sequences.

To distinguish on the other hand from however, we show that the former DM requires an S2-S1 relationship which is narrower than that tolerated by however. This is illustrated by the examples in (34),

(34) a) I hope you understand my dilemma. On the other hand/However/But, I’m not



 sure I understand it myself.


  b) Decartes thought that ideas were innate. On the other hand/However/But, 



 Hume thought they came from experience. 


  c) New York used to be a nice city. *On the other hand/However, today, it stinks.


  d) Janie’s good at jumping rope. *On the other hand/However, today, she fell and 



 hurt herself.

where there is insufficient symmetry of the alternative in (34c-d) to permit on the other hand.

To show that the restrictions on the S2-S1 relationship for on the other hand and nevertheless do not overlap and thus they fall into different subclasses, consider (35).

(35a) I blame you for this mess. On the other hand/*Nevertheless, I understood why 



 it occurred.


  b) Decartes thought that ideas were innate. On the other hand/*Nevertheless, 



 Hume thought they were learned. 


  c) We started out late. Nevertheless/*On the other hand, we arrived on time.


  d)) John is a Republican. Nevertheless/*On the other hand he is honest .

In Contrast(in contrast (with/to this/that), whereas)

Yet more specific in this line of CDMs which began with but is in contrast. Whereas on the other hand requires S2 to be an alternative to S1 within the same topic area but makes no claim of the specific nature of their contrasting relationship, in contrast requires that the S2 make a specific contrast with S1 along two specific contrast areas. In contrast highlights a specific contrast between the two messages. In (36c) we see that the subject can be the same as long as there are two areas of contrast, while in (36d), we see that with only one point of contrast, in contrast requires that too, also, or either be present.

(36) a) John is fat. In contrast, Jim is thin.


  b) The US is a democracy. In contrast, Iran is a totalitarian state.


  c) John can’t see very well. In contrast, he can hear perfectly.


  d) I don’t care for peas. In contrast, I don’t like carrots (either).

That the requirements of the S2-S1 relationship for in contrast are narrower than those of on the other hand is shown by the following examples.
(37) a) Decartes thought that ideas were innate. In contrast/On the other hand, 



 Hume thought they came from experience. 


  b) The US is a democracy. In contrast/On the other hand, Iran is a totalitarian



 state.


  c) Sara gave books to the girls. *In contrast/On the other hand, Mary gave toys



 to the boys.


  d) He hasn’t been feeling that well. *In contrast/On the other hand, he shouldn’t



 have acted that way.

In Comparison (in contrast (with/to this/that), whereas)
This CDM is almost identical with in contrast, the difference being twofold: first, in comparison requires the contrast to be along a designated continuum like height, weight, scores, etc.; and second, whereas the CDM in contrast signals that the contrast is to be highlighted, in comparison signals that a comparison of the areas of contrast is intended with no implication of difference. I have tried to show this in the following examples.

(38) a) John weighs 150 pounds. In comparison/In contrast, Jim weighs 152.


  b) It rained hard yesterday. In comparison/In contrast, it only drizzled today.


  c) John weighs 250 pounds. ?In comparison/In contrast, Jim weighs 75.


  d). The US is a democracy. ?In comparison/In contrast, Iran is a totalitarian



 state. But: The US is a thriving democracy. In comparison, Costa Rica is a



 struggling democracy.


  e) John can’t see very well. ?In comparison/In contrast, he can hear perfectly.

In examples (38a-b), the dimension along which the comparison is to be made is clear--weight and severity of rain. The two CDMs specify a different sense of meaning: in (38a), with in contrast, the focus is on the fact that they are different whereas with in comparison, the focus is on how they compare. But in (38c-e), the dimension is not so clear or, in (38c) the comparison seems inappropriate, and the use of in comparison is problematic, at best. Hence a “?” before the in comparison.
Conversely

Conversely is a strange CDM. Seldom used, it specifies that some aspect of S2 message be interpreted as contrasting with a corresponding aspect of the direct S1 message as an opposite. We see from the examples in (39),

(39) a) We could leave. Conversely, we could stay.


  b) What we gain in speed we lose in sensitivity. Conversely, what we gain in sen-



 sitivity we lose in speed.


  c) Fred would rather walk quickly. Conversely, Harry would rather stroll casually.

that the contrast area (leave-stay, speed-sensitivity, walk quickly-stroll casually) are indeed seen as functional albeit not literal opposites. 

That the restrictions on the S2-S1 relationship of conversely is a proper subset of those for in contrast, and thus should be included within it, is shown by the sequences in (40).

(40) a) Fred would rather walk quickly. Conversely/In contrast, Harry would rather



 stroll casually.


 b) We could leave. Conversely/In contrast, we could stay.


 c) Sara gave books to Mary. *Conversely/In contrast, Mary gave toys to the boys.


 d) John weighs 150 points. *Conversely/In contrast, Jim weighs 152.

That the restrictions for conversely are different from those of in comparison, and thus should be treated as a separate subclass under in contrast, is illustrated by the sequences in (41)

(41) a) We could leave. Conversely/*In comparison, we could stay.


  b) What we gain in speed we lose in sensitivity. Conversely/In comparison, what



 we gain in sensitivity we lose in speed.


  c John can’t see very well. In comparison/*Conversely, he can hear perfectly.


  d It rained hard yesterday. In comparison/*Conversely, it only drizzled today.

Nevertheless (all the same, despite (doing) this/that even so, in spite of (doing) this/that, nevertheless, nonetheless, still)

Reference to Chart 1 shows that the subclass containing nevertheless (despite this, even so, etc.) is a proper subset of however but separate from the other CDMs we have been discussing. This is due to the fact that with nevertheless, S2 exclusively targets an indirect message of S1 while the CDMs just discussed (e.g., on the other hand, in contrast, in comparison, and conversely) all targeted the direct S1 message. But in contrast to but and however, which also may target an indirect message of S1, when the S1 message is implied, the restriction for nevertheless is narrower: the implication can not be just any old implication; it must be expected. 

This first point can be seen by considering the sequences introduced in connection with however with the direct message conveyed by S1 as the target. As can be seen in (42), they are all unacceptable with nevertheless or one of the members of the subclass.

(42) a) John is tall. *Nevertheless/However Sam is short.


  b) John gave toys to Mary. *Despite that/However Sara gave dolls to Jane.


  c) The cook fried the onions. *All the same/However she steamed the cabbage.


  d) The WFL is a pretty good deal. Good salary; good hours; good working condi-



 tions. *In spite of that/However the NFL is everybody’s dream.

The second point can be seen by considering the sequences in (43) and (44). In (43) there are sequences for which the indirect message (which I have indicated) is expected and the subclass of nevertheless can occur.

(43)a) We started late. (Expected implication: We will arrive late.) Nevertheless/Even



 so/Yet we arrived on time.


  b) Harry is a Republican. (Expected implication: He is dishonest.) Nevertheless/



 Despite that, he is honest.


  c) A: Do you love me? (Expected implication: I will do anything for you.)



 B: Yes (Elliptical: I love you) Nevertheless/Still, I won’t do the dishes.


  d) A: Now, you know all the facts. (Expected implication: You should find him



 guilty.)



 B: Nevertheless/In spite of that, I still don’t find him guilty.

In contrast, in (44) there are sequences for which there is no expected indirect messages and in these cases, however but not nevertheless can occur.

(44) a) He is very overweight. *Nevertheless/However, he speaks Italian.


  b) A: How is it that the man drowned? 



 B: Well, we put a floatation device on him. *Nevertheless/However, it slipped



 off.


  c) I appreciate your concern. *Nevertheless/However you know that Barbara has 



 been having a lot of trouble lately.

However, what is unexpected can usually be made expected. Consider a conversation in which we were talking about someone who drowned and the steps we took to avoid this. And, moreover, a floatation device had been trumpeted as the very best solution for this purpose, that it had been tried and tested out. Then for speaker B in (42b) to utter

(45) B: Nevertheless, it slipped off.

would be quite acceptable. And, (42b), for example, can be made acceptable on the understanding that once John gives toys to Mary, Sara cannot give dolls to Jane.

Instead (instead (of (doing) this/that) / Rather (rather (than (doing) this/that)

We now turn to two classes, separate from but and those CDMs associated with it such as however, in contrast, conversely and nevertheless. The first consists of instead and rather, the second consists solely of on the contrary. 

Instead/rather differ in an important way from the CDMs already discussed. These CDMs are normally uttered by the speaker who has contributed S1, though a second speaker is sometimes found whose contribution is what the first speaker might have said anyway. Segment S1 is usually negative and specifies the absence or lack of fulfillment of some state of the world, either directly or by implication (Cf. Bell, 1997). The function of the CDM is to signal acceptance of S1 message but using S2 to set the record straight about what really happened or should have happened. This is shown in (46).

(46) a) Ryan had anticipated that he would simply show up and be part of the team. In​stead/

 Rather, he was forced to try out like all the rest of the players.


  b) Harry won’t take the letter off the table. Instead/Rather, he will just leave it. 


  c) Don’t try the parachute slide. Instead/Rather, take a try on the bungee cord.


  d) The world didn’t stop. Instead/Rather, the people who were aware of the 



 situation took steps to do something about it.


  e) John talked long to the class. Instead/Rather, he should have remained quiet.


  f) I did not go home last night. Instead/Rather, the group came to the office.

There are some interesting constraints on this subclass of CDM. First, if the S1 message is negative, it must be explicitly negative, as shown in (47).

(47) a) Sam wouldn’t agree. Instead/Rather, he mounted an all-out battle.


  b) Sam disagreed. *Instead/*Rather, he mounted an all-out battle.


  c) Jason disproved the theorem. *Instead/*Rather, the matter was



 taken up by a team of mathematicians and then simply abandoned.

An implied negative reading of S1 for instead but not rather can also be accomplished by the modal combinations, could have, should have, might have, or was going to which imply negation, as is shown in (48).

(48) a) She should have taken it. Instead/*Rather, she left it lying there.


  b) Harry could have gone, you know. Instead/*Rather, he didn’t bother.


  c) Jane was going to go to the circus. Instead/*Rather, she ended up at the



 library.

In these cases, it is an indirect message of S1 (e.g., She didn’t take it) with which the message conveyed by S2 contrasts. When these modal combinations are negated, as in (49),

(49) a) He couldn’t have taken his pills. Instead/?Rather, he must have taken a



 placebo.


  b) She shouldn’t have done it. Instead/?Rather, she should have gone about her 



 business.



c) They praised his achievements for all to hear. Instead/?Rather, they might



 have shown a little humility.

we see that rather is highly problematic. On the other hand, when these modal combinations occur in the S2 message, the S1 message need not be negated.

(50) a) Mark played the piano for them. Instead/Rather, he should have danced.


  b) Mark didn’t play the piano for them. *Instead/*Rather, he should have danced.

In contrast, rather but not instead occurs for some people with be, where the S1 message contains a predicate nominal or attribute.

(51) a) It is not the government that is to blame. Rather/?Instead, it’s the politicians.


  b) He wasn’t actually crazy. Rather/*Instead, he was just a little drunk.


  c) Mary is not pretty. Rather/*Instead, she is quite ordinary looking.


  d) Mary is not a doctor. Rather/*Instead/*But she is a paraprofessional.

It’s rather curious that although instead/rather are in a separate class from but, and but cannot substitute for instead, and vice-versa, if instead is used in medial or final position (recall that rather is precluded from this position), but can introduce S2, as shown in (52).

(52) a) Jane didn’t want to go, but wanted to stay and play, instead.


  b) Mark played the piano for them. But he should have danced instead.

ON the contrary (on/to the contrary, quite the contrary, contrariwise-archaic)
Finally, we come to the third class of CDMs which consists of a lone member, on the contrary and a few variations. This final CDM signals that the speaker intends the explicit message conveyed by S2 to be correct while the message conveyed by S1 to be false. There are two cases. In the case where S2 and S1 are uttered by different speakers, as in (53), there is no restriction on S1. In either positive or negative case, the on the contrary can introduce the contrary to S1 as S2, an explanatory comment, or both.

(53) a) A: Harry is not tall. B: On the contrary, (he is tall) He is over 7 feet.


  b) A: Harry is tall. B: On the contrary, (he is not tall). He is quite short.


  c) A: John won’t leave today. 



 B: On the contrary, (John will leave today.) He is leaving right this minute.


  d) A: We have arrived. 



 B: On the contrary, (we have not arrived.) We are completely lost.

On the other hand, with only one speaker, S1 must be an explicitly negative sentence and there may be no contrary S1 present, as the examples in (54) illustrate.

(53) a) Fred is not a gentleman. On the contrary, (*he is a gentleman) He is a bastard.


  b) Fred, a gentleman? On the contrary, he is a bastard.


  c) Fred is a gentleman. On the contrary, he is a bastard.


  d) Harry is not happy. On the contrary, he is extremely depressed.


  e) Harry is unhappy. *On the contrary, he is extremely depressed. 


  f) He didn’t win first prize. On the contrary, he won two first prizes.

Notice that what is rejected is the accuracy of S1, and the message of S2 is designed to convey a more extreme message.

Conclusion

The foregoing has been a brief tour through the terrain of contrastive discourse markers in English. As I said earlier, my version of Chart I may require some revamping if additional data run counter to it, but for the moment, I think it represents the way the larger class of CDMs divides up according to the meaning of the markers. 

Given the manner in which English CDMs divide up the contrastive space, it would be worthwhile looking at other languages, both closely related and removed from English, to find out if the partitioning is similar, and if not, where the differences like. Several efforts are already underway to this effect. For example, Malamud-Makowski (1996) examined CDMs in Spanish and while there was a close correspondence with English, she found some significant differences; Permpikul (1997) examined CDMs in Thai and has found that it has far fewer CDMs than English with some significant difference in patterning, Su (1997) examined CDMs in Mandarin and found, among other things the existence of three forms for but. In short, much more needs to be done before we can be satisfied that we understand contrastive discourse markers.
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� See Pons (1997) for an in depth review of approaches to connectives.


� I will use “(discourse) segment” as a cover term to refer to “proposition,” “sentence,” “utterance” and “message” unless more specificity is required. In all cases, however, the segments must consist of at least a full clause. The S1 segment may actually consist of several segments, a segment not immediately prior to the DM, or, in a few cases, no linguistic segment at all. (cf. Blakemore, 1995; Rouchota, 1996). I will focus on a single S1 segment for the purposes of this paper. 


� My use of procedural core meaning is different from that proposed by Blakemore, 1993 and Wilson & Sperber, 1993 who talk about specifying certain properties of context and contextual effects. 


� I have found “contrast,” “con�ces�sive,” “contradiction,” “denial,” “challenge” “reject,” “replacive” and “cancellative” used in the literature as terms serving to group part or all of this class of expressions.


� The discourse functions of CDMs, along the lines of Sweetser, (1990) is reported in Fraser (forthcoming).


� Not all CDMs can immediately follow but, and some, like however, must be positioned in sentence-final position.


� Although I believe native speakers of English will agree with my acceptable examples, they may disagree with the asterisked cases. This is not critical for it just means that some distinctions among CDMs are not as sharp as I have found them.


� The nature of the contrast and the particulars of S2 and S1 which are contrasted will be discussed later.


� I am aware that there is more to but than the following analysis shows, particularly recent work. However, my purpose is to contrast the CDMs, not go into depth.


� I am not treating other uses of but such as are found in “All but one left today,” “There was no doubt but that he won,” “It had no sooner started but it shopped,” “He was but a poor man,” and “I may be wrong, but I think you’re beautiful.” Whether or not they could be included under my analysis is left open.


� For purposes of this discussion, I consider presuppositions and entailments of a proposition as messages, given off though not necessarily intended. In addition, I am considering only the basic, direct message associated with the utterance, not any secondary message such as those conveyed by commentary pragmatic markers such as frankly, stupidly, and certainly.


� Cf. Carston (1995). This is true for all the CDMs falling in this first class headed by but for which the direct S1 message is the target. Thus, only nevertheless is excluded.


� Of course S2 must really present a contrast vis-a-vis S1. The sequence ,”You know my brothers, John and Sam. Well, John is a genius. But Sam is an Einstein” is not coherent since there is no real contrast.


� Notice that if (24a) were “John is a politician. But he is dishonest.” we would have a difficult time interpreting the sequence. There is no implication immediately obvious which follows from S1, and because there is no also or too present, we would not be inclined to treat is as a case of explicit contrast. 


� Clearly they differ in privileges of occurrence, since but can occur only in initial position while however can occur initially, medially, and finally.


� Gisela Redeker pointed out to me that when on the one hand introduces S1, but cannot substitute for on the other hand.


� Given that conversely can stand alone, we find “What we gain in power is lost in time. And, conversely,” but not “And but” or “And however,” etc.


� David Bell (personal communication) has pointed out to me that of all the DMs in this class, yet seems to occur with S1 and S2 reversed: We arrived on time. Yet we started late.


� It has been pointed out by Blake Rohrbaker that the examples in (48) will take but. However, it is my feeling that these cases are elliptical for but instead.


� Verbs like feel and seem are problematic with both of these CDMs.


� This was pointed out to me by Arie Verhagen.





